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SBI MEMORY BASED PAPER
DISCUSSION




PHRASE REPLACEMENT (Q1 TO Q5)




1. Dust particles have accumulated On the

window panes are harmful to health.

A. has particles accumulated

B. particles that is accumulating
C. particles accumulated

D. particles are accumulated

E. No correction required

Answer:
C. particles accumulated




2. The equipment is in such poor condition
that we have no alternative to buy new ones.

A. no alternative but

B. no other alternative
C. any alternative except
D. many alternative like

E. No correction required

Answer:

A. no alternative but



3. A date for the committee meeting to discuss
the details of the proposal has yet to be decided.
A. have not been still decided

B. will be yet decided

C. is been decided yet

D. is not yet been decided

E. No correction required

Answer: (e)
No correction required



4. A consultant is been appointed to advise
us on the viability of the project.
A. to be appointed

B. will be appointed

C. has been appointing

D. appointed

E. No correction required

Answer: A. to be appointed




S. One of the basic choices we make in life is
whether following the path of smart selfishness
or try to avoid all problems.

A. has been whether follow

B. is whether or not to follow

C. is whether to follow

D. while following

E. No correction required

Answer: (¢)



FILL IN THE BLANKS (Q6 TO Q10)




6. The speaker did not properly space out his

speech but went on one point only.

A. stressing
B. avoiding
C. devoting
D. Decrying
E. None

Solution- A. stressing



7. You must refrain
A. to

B. at

C. with

D. from

E. through

ANS- D. from

such an act.
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8. Keith has with a failure in

English examination thrice.
A. caught
B. gone
C. got
D. Met
E. None

ANS- D. Met



9. Our company has invested a huge

amount in the outdated unit.

A. running

B. modernising
C. selling

D. dispensing
E. establishing

ANS- E. establishing



10. I have in my album photographs of some of

my very close friends I can never

forget.
A. that
B. who
C. whom
D. which
E. those

C. whom



CLOZE TEST (Q11 70 Q15)




Faced with an (1) number and variety of products

on the market, managers are finding it more difficult to

(2) demand and plan production and orders

A3) As a result 4) forecasts are increasing

and , along with them , the costs of those errors Many
managers today, 5) speed is the (6) , have

turned to one or another popular production scheduling
system. But these tools tackle only part of the problem

(7) really needed is a way to 8) forecasts

and simultaneously redesign planning processes to
9) the impact of (10) forecasts.




Faced with an (1) number and variety of

products on the market, managers are finding it more

difficult to (2) demand and plan production and

orders 3) As a result 4) forecasts are

increasing and , along with them , the costs of those errors

Many managers today, S) speed is the

(6) , have turned to ome or another popular

production scheduling system.
Identify the exact answer for the blank (1)?

A. Equal B. exact C. eccentric
D. Unprecedented E. None
Answer: (d)



Faced with an (1) number and variety of

products on the market, managers are finding it more

difficult to (2) demand and plan production and

orders 3) As a result 4) forecasts are

increasing and , along with them , the costs of those errors

Many managers today, S) speed is the

(6) , have turned to ome or another popular

production scheduling system.
Identify the exact answer for the blank (2)?

A. Register B. accept C. ignore
D. Predict E. Nomne

Answer: D. Predict



Faced with an (1) number and variety of

products on the market, managers are finding it more
difficult to (2)

demand and plan production and
orders 3) As a result 4) forecasts are

increasing and , along with them , the costs of those errors
3) speed is the
(6) , have turned to one or another popular

Many managers today,

production scheduling system.
Identify the exact answer for the blank (3)?
A. Spontaneously B. positively C. accordingly

D. quickly E. None
Answer: (¢)




Faced with an (1) number and variety of

products on the market, managers are finding it more
difficult to (2)

demand and plan production and
orders 3) As a result 4) forecasts are

increasing and , along with them , the costs of those errors
3) speed is the
(6) , have turned to one or another popular

Many managers today,

production scheduling system.
Identify the exact answer for the blank (4)?

A. Exorbitant B. inadequate C. frequess
D. Inaccurate E. None 00 : 30

D. inaccurate




Faced with an (1) number and variety of

products on the market, managers are finding it more
difficult to (2)

demand and plan production and
orders 3) As a result 4) forecasts are

increasing and , along with them , the costs of those errors
3) speed is the
(6) , have turned to one or another popular

Many managers today,

production scheduling system.

Identify the exact answer for the blank (5)?

A. not withstanding B. believing C. visualizing
D. Neglecting E. None

B. believing



Faced with an (1) number and variety of

products on the market, managers are finding it more
difficult to (2)

demand and plan production and
orders 3) As a result 4) forecasts are

increasing and , along with them , the costs of those errors
3) speed is the
(6) , have turned to one or another popular

Many managers today,

production scheduling system.
Identify the exact answer for the blank (6)?
A. Lacuna B. outcome C. source

D. answer E. None

D. answer



But these tools tackle only part of the problem (7

really needed is a way to ) forecasts and

simultaneously redesign planning processesto  (9)
the impactof  (10) _ forecasts.

Identify the exact answer for the blank (7)?

A. what's B. that's C. one

D. managers E. None

A. what's



But these tools tackle only part of the problem
(7) really needed is a way to )

forecasts and simultaneously redesign planning
processes to 9) the impact of (10)

forecasts.

Identify the exact answer for the blank (8)?
A. Improve B. negate C. vitiate
D. obtain E. None

A. Improve




But these tools tackle only part of the problem (7

really needed is a way to ) forecasts and

simultaneously redesign planning processes to 9)

the impactof  (10) _ forecasts.

Identify the exact answer for the blank (9)?

A. Popular B. counter C. minimize
D. substantiate E. None




But these tools tackle omly part of the problem
S)___
forecasts and simultaneously redesign planning processes
to (9
Identify the exact answer for the blank (10)?

A. Popular B. erroneous C. unpredicted
D. absolute E. Nomne

(7 really needed is a way to

the impact of (10) forecasts.

B. erroneous



In each of the following questions there are four
parts a, b, ¢ and d, among which one part is
erroneous. Find out which part of the sentence has
an error and mark ‘e’ if no error is found. Ignore

punctuation errors.



The news of (a)/ man power mishandling (b)/

circulated around the industry (c)/ in a few

minutes (d) /No error (e)

Answer: ¢)
Explanation: Replace ‘around’ by ‘in’.



The Supervisor (a)/ tested his labourers to see
(b)/ if they can understand (c)/ the latest
technology (d) /No error (e)

Explanation: ‘To see’ can be removed as it is

Answer: b)

redundant after ‘tested’.



Many a (a)/ battle were (b)/ fought on the (c)/
soil of India (d) /No error (e)

Explanation: replace were with was

Answer: b)



=
You can run (a)/ as many as you (b)/ want at

(c)/ the center stage (d) /No error (e)

Answer: b)
Explanation: Replace ‘many’ by ‘much’.



She has not been (1) / charged but was
hold (2) / for two days and barred from (3)
/ using Facebook for 180 days (4).

A. 1

B. 2

D. 4

E. No Error

Option — B Solution: The error lies in the
second part of the sentence. Since it is a past
event, the past tense of ‘hold,’ i.e., ‘held’ be

used.
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I' HOME WORK

He used to the point that

victory in any field needs

courage.

A. emphasise, little

B. stress, exemplary
C. refute, no

D. dismiss, formidable

E. distract, enormous






